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QUESTION 1

What is the expected output of the following code?

def func(message, num=1):

print(message * num)

func('Hello") # Hello

func('Welcome', 3) # WelcomeWelcomelelcome

A. 1| Hello 2 | Viewers

B. 1 | Hello 2 | Welcome Welcome Welcome
C. 1| Hello 2 | Welcome,Welcome,Welcome
D. 1| Hello 2 | WelcomeWelcomeWelcome
E. 1| Hello

Correct Answer: D

QUESTION 2

You want to write a program that asks the user for a value. For the rest of the program you need a whole number, even
if the user enters a decimal value.

What would you have to write?

A. num = str(input(\\'\How many do you need?\\'))

B. num = int( oat(input(\\'\How many do you need?\\")))
C. num = oat(input(\\'\How many do you need?\\"))

D. num = int(\\'How many do you need?\\')

Correct Answer: B

QUESTION 3
Which of the following operators can be used with strings?

1)+
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2)*

3) 4)in
A1,23
B.1,2 4
C.1,2,34
D.1,2

Correct Answer: B

QUESTION 4

Select the true statement:

A. You cannot use a mix of positional and keyword argument passing.

B. The order of arguments passed does matter in keyword argument passing.

C. The order of arguments passed does not matter in positional argument passing.
D. Keyword arguments cannot be followed by positional arguments.

Correct Answer: D

QUESTION 5

What is the expected output of the following code?

data= {)
print{data. len_())

A. The code is erroneous.
B.1

C.0

D. None

Correct Answer: C
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